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Il Semester B.Com. Examination, May/June 2013

(Fresh) (Semester Scheme) (2012-13 & Onwards)
COMMERCE

Paper — 2.6 : Quantitative Analysis for Business Decisions — |

Time : 3 Hours Max. Marks : 100
Instruction : Answers should be written completely either in English orin
Kannada
SECTION-A
Answer any ten sub-questions. Each carries two marks. (10x2=20)

1. a) What is Statistics ?
b) Mention any four limitations of statistics.
c) Whatis census method ot data collection ?
d) What is a qualitative classification
e) Whatis a primary data ?
f) Mention the parts of a table.
g) Whatis an one dimensional diagram ?
h) Mention any two merits and any two demerits of mode.
1) Whatis a ‘False Base Line’ ?
) Mention any two merits and any two demerits of standard deviation.
K) State the situation of positive and negative skewness.

) Whatis Cost of Living Index Number ?
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SECTION-B

Answer any four sub-questions. Each carries eight marks. (4x8=32)

2. Present the following information in rectangular diagram drawn in percentage

basis :
Items Family ‘A’ Family ‘B’
Rs. Rs.
Food 120 160
Clothing 80 100
House rent 60 120
Education 40 80
Fuel 20 40
Misc. 40 60
Income 400 600

3. Inatrip organised by a college there were 80 persons each of whom paid Rs. 15.50
on an average. There were 60 students each of whom paid Rs.16. Members of
the teaching staff were charged at higher rate. The number of servants was 06
(all males) and they were not charged anything. The number of females was 20

percent of the total of which one was a lady staff member. Tabulate the information.

4. A Limited Co. wants to distribute bonus to its employees as follows :

Monthly Salary (Rs.) - Bonus(Rs.)
100-120 50
120 - 140 60
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140-160
160 -180
180 - 200

200 - 220

220 and over

The actual salaries of the employees are as follows :

&

<

100

110
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Rs. 200, 180, 195, 218, 187, 160, 250, 198, 190, 168, 170, 178, 175, 140, 120,

148, 165, 155, 145,125, 110, 162, 130, 150, 185.
a) What was the total amount of bonus ?

b) What was the average bonus ?

5. Find mean deviation from mean from the following :

ncome (RS.) 1 1000 | 2000 | 3000 | 4000 | 5000
(Less than)

No. of persons

N

6. An enquiry in to the budget of the middle class families in a city gave the following
information. What changes in the cost of living figures of 2005 as compared to
with that of 2002 are seen 7

Percentage
Iltems
Expenses

Food 29%

Rent 15%
Clothing 25%

Fuel 10%

Misc. 21%

140
30

75
25
40

o2

147
30

66
20

Prices (Rs.) | Prices (Rs.)
2002 2005
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SECTION-C

Answerany three questions. Each carries 16 marks. (3x16=48)

7. Find median from the following series. Also draw less than ogive, more than
ogive and locate median on a graph.

Income (Rs.) | No. of Persons

0 - 20 g2
20 — 40 112
40 - 60 150
60 — 80 95
80 — 100 48

8. Life of two models of refrigerators obtained in a survey is given below. Find
which model has greater uniformity of life.

No. of Refrigerators

Life (No. of Years)

Model ‘A’ Model 'B’
5 2
16 17
13 12
7 19
5 9
4 1

9. Calculate Karl Pearson’s co-efficient of skewness from the following series using
mean, mode and standard deviation.

Less than 10 10
! 20 28
’ 30 53
! 40 65

) 50 70
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10. With the help of the following data, prove that Fisher’s ideal index satisfies both

the time reversal test and factor reversal test.

2010 2012
Commodity
Price (Rs.) Value (Rs.) | pico(ps) . value (Rs)
(Price x quantity) (Price x quantity)
A 6 72
B 10 80
C 12 96 |
D 5 30
E 8 64
"c’sﬁcs’ Rpraplecie:

NLITON —

CIRTFYTRTETR TR GOT BINGH LUZOR. B TIN TR LOTNTD
1. a) BoamTo% HOTTE P

b) ﬁomémﬁﬂd OITTYTIDTITR T, QSN HROR.

C) wINES d%@o& BI&S BOM,T DOTTETD 7

d) MOIZE WNF BT 0BT 7

e) TR [ DOTTE ?

f) Bpewmsm RDIATALS] TR0

g) %OoT B0 Teasosde HOTTETD ?

h) SRTOFTIRO0ID CIRF)TIITTR ORI NICNTT) T TN LTNOLINTD,
) ‘o’ UerT T DOTITETD ?

(10X2=20)

) ROFE, BEITHNFED CIRTYTTHTR ST MERTE) [0 LENOLNTRO BIOA.

k) "520088 538, W3 208) IE0UTE 338, L3UR00 BOTLIF NSy HROR.
) 23D 53?,3 AOLT 0B OTTET0 ?




MS — 384 3 AR 0
TN - W

L C3IOTYTIDTITH TR, TINETT LVSDR. T,3030T3E, Q083D 30BN, - (4x8=32)

2. B3FPNI DRLINTI) A WBORR, 060 BesmowL Y JeBTW 30T S0,

3. 2070 Fode3dow dzsa’ig"p SRR B,TADYD, 2830 80 &IV, @j\%oﬁ@wwdfa clop
OR. 15.5020 T8R0T, i, 60 Qo HFNOTY. X,303pW0R TR, 1632
TRRSRTIZTT. HTTON DU TORR) TOTLRNTIBT. AFHo0IFT 5083, 06 (LT HTORAD)
SOB) 930N AANYTIE WO ﬁradcrbdi FOTUINTOR QL. T&FODT 2033, Wi, ATR0
Sewts 20 SN BTOY u%d: R0 HTIOIPNTOZYT.

83 BeDT TRBINTIV, 2,000 FRERFT, WBWD.

4. 2,003 RORT BoTROID I3 FITOR 31 FINF0R LReTT LR IR

=28 B0 (35.) 3neRD (3h.)

100 -120 50
120 - 140 60
140 - 160
160 -180
180 - 200
200 -220
220 533 Ty,

JOF0T R0y 83 FENT03 [T,

on. 200, 180, 195, 218, 187, 160, 250, 198, 190, 168, 170, 178, 175, 140, 120, 148,
165, 155, 145, 125, 110, 162, 130, 150, 185.
a) Wt WD X&), 7 b) 20RO BresTe DT, ?




IR AL 7 MS - 384

5. 5 9N 272805003 FTRRO LITTIDECIIRY L0833 ROPFOCD TR B> BOLI0,

i || =] w[o]w

6. JINTD dsqi:b SME T BOLIDOWNY @Qﬁad%odowﬁg{ B3 3SN BRTCINT. 236533 ﬁzg’d mw% 0TS,
2005 d®m20025@é BLRCORTTON 3NTOR WRUORED I3 ?

IR |Bewes 332,3 033 (TR nlo] fo¥0
2002 2005

IN - X

30

S

O3 TINTITR TJRTO @zﬁp’@ﬁ VSO T 303ROTT, TBOTIT LIOFMED, (3%x16=48)

7. 88 FIPNT IN&SNLOT :ﬁxﬁa@é ﬁ@ﬁ@@ﬁ?{ F0TD &EICOD. TINL 20T 66&?§§®Q
“eSnE 9,8 WD “[RT* 59, LR woa’_g mqas ﬁmﬁ@oﬁo@mzﬁo%.
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8. QTR TRTONY SerOesden cDOT MY B B TYT BRWERNT. 0dRT IRTVOD

S Des0rs 0300 BSCIR %WOTIC TTTNT 9

SeROCFTED 0OZNY Toad,
SRTO'Y TRTO W

9. B3 FIPAT NS0T T FLONT AT OT ﬂ’omé’j ﬁ@aﬁwsﬁo@d& SBOBNESS RTORO,
SRTO FTOTO T O, WTOTONENT TAROT om0 83000,
X Sty %083
10 © 2301 10

20 T &0 28

30 o o 53
40 © TN 65
50 T 231 70

10. 83 IPNT WNLENTOT LTVT ORT SRITRRLR,055) IO PYTOTIDIF S TOET 0B
0D PTTIWSF S WOENI Tert FLREVATT 000 T FBARIL.
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BT WS (Sn.) DT WS (TR.)

(TR.) (BT x IZ000) | (TSR.) (T3S x I=eed)
5
/

10
4
8

moo m >
> S 3R




